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00:00 =& (2 e 1=IE =8 (= 8.18 32.69 29.26 6.89 1.10 |[83788.89
01:00 2 (2 2 1= = hE =1 8.16 45.50 20.04 5.88 1.10 [83059.52
02:00 (R 0 (R FhE 1=IE (=i 7.70 3655 | 31.12 3.85 1.09 |[82116.08
03:00 2 (2 2 1= =hE =1 8.59 31.47 49.99 3.42 1.10 [83686.26
04:00 (R 0 (R FhE =8 (=i 9.80 2636 | 57.33 3.76 1.09 |84888.41
05:00 (e 0 (R (2 R =i 8.65 33.90 | 19.14 3.25 110 |85712.97
06:00 (R 0 (R 1 hE 1=)E (=i 9.68 3443 | 2451 5.42 1.09 |[81724.74
07:00 2 (2 2 1= = hE {E1% 8.42 33.55 26.10 5.65 1.08 |[78514.83
08:00 (R 0 (R (R (R (=i 7.87 3689 | 18.68 9.87 1.08 |81731.59
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